# T-Stability Approach to the Homotopy Perturbation Method for Solving Fredholm Integral Equations 

Hossein Jafari*, Maryam Alipour and Maryam Ghorbani<br>Department of Mathematics, University of Mazandaran, Babolsar, Iran

> E-mail: jafari@umz.ac.ir


#### Abstract

The homotopy perturbation method is a powerful device for solving a wide variety of problems arising in many scientific applications. In this paper, we investigate several integral equations by using T-stability of the Homotopy perturbation method investigates for solving integral equations. Some illustrative examples are presented to show that the Homotopy perturbation method is T-stable for solving Fredholm integral equations.


Keywords: T-Stability, Homotopy perturbation method, Fredholm integral equation, Volterra integral equation.

2000 Mathematics subject classification: 45B05.

## 1. Introduction

Various kinds of analytical methods and numerical methods were used to solve integral equations $[2,14]$. Recently the Homotopy perturbation method [8] has been used by many authors to handle a wide variety of scientific and engineering applications to solve various functional equations. In this method, the solution is considered as the sum of an infinite series, which converges rapidly to exact solutions. Using the homotopy technique in topology, a homotopy is constructed with an embedding parameter $p \in[0,1]$ which is considered as a "small parameter". It can be said that He's homotopy perturbation method is a universal one, and it is able to solve various kinds of nonlinear functional equations $[1,3,5-7,9,11,13,15]$. In this paper several integral equations are

[^0]solved by Homotopy perturbation method after that we show T-Stability of Homotopy perturbation method for solving integral equations.

First we recall T-Stability of Picards iteration and a theorem from [10]: Let $(X,\|\cdot\|)$ be a Banach space and $T$ a self-map of $X$. Let $x_{n+1}=f\left(T, x_{n}\right)$ be some iteration procedure. Suppose that $F(t)$ the fixed point set of $T$, is nonempty and that $x_{n}$ converges to a point $q \in F(t)$. Let $\left\{y_{n}\right\} \subseteq X$ and define $\epsilon_{n}=\left\|y_{n+1}-f\left(T, y_{n}\right)\right\|$. If $\lim \epsilon=0$ implies that $\lim y_{n}=q$, then the iteration procedure $x_{n+1}=f\left(T, x_{n}\right)$ is said to be $T$-stable. Without loss of generality, we may assume that $\left\{y_{n}\right\}$ is bounded, if $\left\{y_{n}\right\}$ is not bounded, then it cannot possibly converge. If these conditions hold for $x_{n+1}=T x_{n}$, that is, Picards iteration, then we will say that Picards iteration is T-stable.

Theorem 1.1. [10] Let $(X,\|\|$.$) be a Banach space and T$ a self-map of $X$ satisfying

$$
\begin{equation*}
\|T x-T y\| \leq L\|x-T x\|+\alpha\|x-y\|, \tag{1.1}
\end{equation*}
$$

for all $x, y \in X$, where $L \geq 0,0 \leq \alpha \leq 1$. Suppose that $T$ has a fixed point $p$. Then, $T$ is Picard T-stable.

## 2. Homotopy perturbation method

To convey an idea of the Homotopy perturbation method (HPM), we consider a general equation of the type

$$
\begin{equation*}
L(u)=0, \tag{2.1}
\end{equation*}
$$

where $L$ is an integral or differential operator. We define a convex homotopy $H(u, p)$ by

$$
\begin{equation*}
H(u, p)=(1-p) F(u)+p L(u)=0 \tag{2.2}
\end{equation*}
$$

where $F(u)$ is a functional operator with known solutions $v_{0}$ which can be obtained easily. It is clear that, when

$$
\begin{equation*}
H(u, p)=0 \tag{2.3}
\end{equation*}
$$

we have $H(u, 0)=F(u)$ and $H(u, 1)=L(u)$. This shows that $H(u, p)$ continuously traces an implicitly defined curve from a starting point $H\left(v_{0}, 0\right)$ to a solution $H(u, 1)$. The embedding parameter $p$ monotonously increases from zero to one as the trivial problem $F(u)=0$, continuously deforms to original problem $L(u)=0$. The embedding parameter $p \in[0,1]$ can be considered as an expanding parameter to obtain

$$
\begin{equation*}
u=u_{0}+p u_{1}+p^{2} u_{2}+\cdots \tag{2.4}
\end{equation*}
$$

When $p \rightarrow 1$, Eq.(2.3) corresponds to Eq.(2.1) and becomes the approximate solution of Eq.(2.1), i.e.,

$$
\begin{equation*}
U=\lim _{p \longrightarrow 1} u=u_{0}+u_{1}+u_{2}+\cdots \tag{2.5}
\end{equation*}
$$

The series (2.5) is convergent for most cases and the rate of convergence depends on $L(u)$ [8].

## 3. Fredholm integral equation of the second kind

Now we consider the Fredholm integral equation of the second kind in general case, which reads

$$
\begin{equation*}
u(x)=f(x)+\lambda \int_{a}^{b} k(x, t) u(t) d t \tag{3.1}
\end{equation*}
$$

where $k(x, t)$ is the kernel of the integral equation. There is a simple iteration formula for (3.1) in the form

$$
\begin{equation*}
u_{n+1}(x)=f(x)+\lambda \int_{a}^{b} k(x, t) u_{n}(t) d t \tag{3.2}
\end{equation*}
$$

Now, we show that the nonlinear mapping $T$, defined by

$$
\begin{equation*}
u_{n+1}(x)=T\left(u_{n}(x)\right)=f(x)+\lambda \int_{a}^{b} k(x, t) u_{n}(t) d t \tag{3.3}
\end{equation*}
$$

is $T$-stable in $L^{2}[a, b]$. First, we show that the nonlinear mapping $T$ has a fixed point. For $m, n \in N$ we have

$$
\begin{align*}
\left\|T\left(u_{m}(x)\right)-T\left(u_{n}(x)\right)\right\| & =\left\|u_{m+1}(x)-u_{n+1}(x)\right\| \\
& =\left\|\lambda \int_{a}^{b} k(x, t)\left(u_{m}(t)-u_{n}(t)\right) d t\right\|  \tag{3.4}\\
& \leq|\lambda|\left[\int_{a}^{b} \int_{a}^{b} k^{2}(x, t) d x d t\right]^{1 / 2}\left\|u_{m}(x)-u_{n}(x)\right\| .
\end{align*}
$$

Therefore, if

$$
\begin{equation*}
|\lambda|<\left[\int_{a}^{b} \int_{a}^{b} k^{2}(x, t) d x d t\right]^{-1 / 2} \tag{3.5}
\end{equation*}
$$

then the nonlinear mapping $T$ has a fixed point.
Second, we show that the nonlinear mapping $T$ satisfies (1.1) and so (3.3) holds.
Putting $L=0$ and $\alpha=|\lambda|\left[\int_{a}^{b} \int_{a}^{b} k^{2}(x, t) d x d t\right]^{1 / 2}$ shows that (1.1) holds for the nonlinear mapping $T$. All of the conditions of Theorem 1 hold for the nonlinear mapping $T$ and hence it is $T$-stable. As a result, we can state the following theorem.

Theorem 3.1. Consider the iteration scheme

$$
\begin{align*}
u_{0}(x) & =f(x) \\
u_{n+1}(x) & =T\left(u_{n}(x)\right)=f(x)+\lambda \int_{a}^{b} k(x, t) u_{n}(t) d t \tag{3.6}
\end{align*}
$$

for $n=0,1,2, \ldots$ to construct a sequence of successive iterations $\left\{u_{n}(x)\right\}$ to the solution of (3.2). In addition, let

$$
\begin{equation*}
|\lambda|<\left[\int_{a}^{b} \int_{a}^{b} k^{2}(x, t) d x d t\right]^{-1 / 2} \tag{3.7}
\end{equation*}
$$

$L=0$ and $\alpha=|\lambda|\left[\int_{a}^{b} \int_{a}^{b} k^{2}(x, t) d x d t\right]^{1 / 2}$. Then the nonlinear mapping $T$, in the norm of $L^{2}(a, b)$, is $T$-stable.

In view of Eq.(2.2), we define following convex homotopy $H(u, p)$ for (3.1)

$$
\begin{equation*}
(1-p)[u(x)-f(x)]+p\left[u(x)-f(x)-\lambda \int_{a}^{b} k(x, t) u(t) d t\right]=0 \tag{3.8}
\end{equation*}
$$

or

$$
\begin{equation*}
u(x)=f(x)+p \lambda \int_{a}^{b} k(x, t) u(t) d t \tag{3.9}
\end{equation*}
$$

Substituting Eq.(2.4) into Eq.(3.9), and equating the terms with identical powers of $p$, we have

$$
\begin{aligned}
& p^{0}: u_{0}=f(x), \\
& p^{1}: u_{1}=\lambda \int_{a}^{b} k(x, t)\left(u_{0}\right) d t, \\
& p^{2}: u_{2}=\lambda \int_{a}^{b} k(x, t)\left(u_{1}\right) d t, \\
& p^{3}: u_{3}=\lambda \int_{a}^{b} k(x, t)\left(u_{2}\right) d t,
\end{aligned}
$$

Therefore, we obtain iteration formula for Eq.(3.1) as follow:

$$
\begin{align*}
& u_{0}(x)=f(x) \\
& u_{m}(x)=\lambda \int_{a}^{b} k(x, t) u_{m-1}(t) d t, m>0 \tag{3.10}
\end{align*}
$$

according to Eq.(3.10), we define partial sum as follow:

$$
\begin{align*}
& s_{0}(x)=f(x) \\
& s_{n}(x)=\sum_{i=0}^{n} u_{i}(x) \tag{3.11}
\end{align*}
$$

in view of Eqs.(3.10) and (3.11) we have

$$
\begin{aligned}
& s_{0}(x)=f(x) \\
& s_{n+1}(x)=f(x)+\lambda \int_{a}^{b} k(x, t) s_{n}(t) d t
\end{aligned}
$$

Definition 3.2. Let $u_{1}, u_{2}, u_{3}, \ldots$ be a sequence of functions. The series $\sum_{n=1}^{\infty} u_{n}$ is said to converge to $u$ if the sequence $\left\{s_{n}\right\}$ of partial sums defined by

$$
\begin{equation*}
s_{n}(x)=\sum_{k=1}^{\infty} u_{k}(x) \tag{3.12}
\end{equation*}
$$

converges to $u$ [12].
We now recall a theorem from [4].
Theorem 3.3. [4] Consider the iteration scheme

$$
\begin{aligned}
& s_{0}(x)=f(x) \\
& s_{n+1}(x)=f(x)+\lambda \int_{a}^{b} k(x, t) s_{n}(t) d t
\end{aligned}
$$

for $n=0,1,2, \ldots$ to construct a sequence of successive iterations $s_{n}(x)$ to the solution of Eq. (3.1). In addition, let

$$
\begin{equation*}
\int_{a}^{b} \int_{a}^{b} k^{2}(x, t) d x d t=B^{2}<\infty \tag{3.13}
\end{equation*}
$$

and assume that $f(x) \in L^{2}(a, b)$. Then, if $|\lambda|<\frac{1}{B}$, the above iteration converges in the norm of $L^{2}(a, b)$ to the solution of Eq. (3.1).

Corollary Consider the iteration scheme

$$
\begin{aligned}
s_{0}(x) & =f(x) \\
s_{n+1}(x) & =T\left(s_{n}(x)\right)=f(x)+\lambda \int_{a}^{b} k(x, t) s_{n}(t) d t
\end{aligned}
$$

for $n=0,1,2, \ldots$ If

$$
\begin{equation*}
|\lambda|<\left[\int_{a}^{b} \int_{a}^{b} k^{2}(x, t) d x d t\right]^{-1 / 2} \tag{3.14}
\end{equation*}
$$

$L=0$ and $\alpha=|\lambda|\left[\int_{a}^{b} \int_{a}^{b} k^{2}(x, t) d x d t\right]^{1 / 2}$, then stability of the nonlinear mapping $T$ is a coefficient condition for the above iteration to converge solution of (3.1) in the norm of $L^{2}(a, b)$.

## 4. Test Examples

In this section, we present some test examples to show that the stability of the HPM for solving integral equations. In fact the stability interval is a subset of converges interval.

Example 4.1. [11] Consider the integral equation

$$
\begin{equation*}
u(x)=\sqrt{x}+\lambda \int_{0}^{1} x t u(t) d t \tag{4.1}
\end{equation*}
$$

Its iteration formula reads

$$
\begin{equation*}
s_{n+1}(x)=\sqrt{x}+\lambda \int_{0}^{1}(x t) s_{n}(t) d t \tag{4.2}
\end{equation*}
$$

and

$$
u_{0}(x)=\sqrt{x} .
$$

In view of Eq.(3.9), we obtain

$$
\begin{equation*}
u(x)=\sqrt{x}+p \lambda \int_{0}^{1} x t u(t) d t \tag{4.3}
\end{equation*}
$$

Substituting Eq. (2.4) into Eq. (4.3), we have the following results:

$$
\begin{aligned}
& p^{0}: u_{0}(x)=\sqrt{x} \\
& p^{1}: u_{1}(x)=\lambda \int_{0}^{1} x t \sqrt{t} d t=\frac{2 \lambda x}{5} \\
& p^{2}: u_{2}(x)=\lambda \int_{0}^{1} x t \frac{2 \lambda t}{5} d t=\frac{2 \lambda^{2}}{15} x \\
& p^{3}: u_{3}(x)=\lambda \int_{0}^{1} x t \frac{2 \lambda^{2}}{15} t d t=\frac{2 \lambda^{3}}{45} x
\end{aligned}
$$

Continuing in this way, we obtain

$$
\begin{equation*}
s_{n}(x)=\sqrt{x}+\left[\frac{2}{5.3^{0}} \lambda+\frac{2}{5.3^{1}} \lambda^{2}+\frac{2}{5.3^{2}} \lambda^{3}+\cdots\right]=\sqrt{x}+\left[\frac{6}{5} \sum_{i=1}^{n}\left(\frac{\lambda}{3}\right)^{i} x\right] \tag{4.4}
\end{equation*}
$$

The above sequence is convergent if $|\lambda|<3$.
On the other hand, we have

$$
\begin{equation*}
\left[\int_{a}^{b} \int_{a}^{b} k^{2}(x, t) d x d t\right]^{\frac{1}{2}}=\left[\int_{0}^{1} \int_{0}^{1}(x t)^{2} d x d t\right]^{\frac{1}{2}}=\frac{1}{3} \tag{4.5}
\end{equation*}
$$

Then, if $|\lambda|<3$ for mapping

$$
s_{n+1}(x)=T\left(s_{n}(x)\right)=\sqrt{x}+\lambda \int_{0}^{1} x t s_{n}(t) d t
$$

we have

$$
\begin{align*}
\left\|T\left(s_{m}(x)\right)-T\left(s_{n}(x)\right)\right\| & =\left\|s_{m+1}(x)-s_{n+1}(x)\right\| \\
& =\left\|\lambda \int_{0}^{1} x t\left(s_{m}(x)-s_{n}(x)\right) d t\right\|  \tag{4.6}\\
& \leq|\lambda|\left[\int_{0}^{1} \int_{0}^{1}(x t)^{2} d x d t\right]^{1 / 2}\left\|s_{m}(x)-s_{n}(x)\right\| \\
& \leq \frac{|\lambda|}{3}\left\|s_{m}(x)-s_{n}(x)\right\|
\end{align*}
$$

which implies that $T$ has a fixed point. Also, putting $L=0$ and $\alpha=\frac{|\lambda|}{3}$ shows that (1.1) holds for the nonlinear mapping $T$. All of the conditions of Theorem 1.1 hold for the nonlinear mapping $T$ and hence it is $T$-stable.

Example 4.2. [11]Consider the integral equation

$$
\begin{equation*}
u(x)=x+\lambda \int_{0}^{1}(1-3 x t) u(t) d t, \tag{4.7}
\end{equation*}
$$

whose iteration formula reads

$$
\begin{equation*}
s_{n+1}(x)=x+\lambda \int_{0}^{1}(1-3 x t) s_{n}(t) d t \tag{4.8}
\end{equation*}
$$

and

$$
u_{0}(x)=x
$$

In view of Eq. (3.9), we obtain

$$
\begin{equation*}
u(x)=x+p \lambda \int_{0}^{1}(1-3 x t) u(t) d t . \tag{4.9}
\end{equation*}
$$

Substituting Eq.(2.4) into Eq. (4.9), we obtain the following results:

$$
\begin{aligned}
& p^{0}: u_{0}(x)=x \\
& p^{1}: u_{1}(x)=\lambda \int_{0}^{1}(1-3 x t) t d t=\frac{\lambda}{2}-\lambda x \\
& p^{2}: u_{2}(x)=\lambda \int_{0}^{1}(1-3 x t)\left(\frac{\lambda}{2}-\lambda t\right) d t=\frac{\lambda^{2}}{4} x, \\
& p^{3}: u_{3}(x)=\lambda \int_{0}^{1}(1-3 x t) \frac{\lambda^{2}}{4} t d t=\frac{\lambda^{3}}{8}-\frac{\lambda^{3}}{4} x,
\end{aligned}
$$

Continuing in this way, we obtain

$$
\begin{equation*}
s_{n}(x)=(1-\lambda) x+\frac{\lambda^{2}}{4}(1-\lambda) x+\frac{\lambda}{2}+\frac{\lambda^{3}}{8}+\ldots=\sum_{i=0}^{n}\left[\left(\frac{\lambda^{2}}{4}\right)^{i} \lambda\left(\frac{1}{2}-x\right)+\left(\frac{\lambda^{2}}{4}\right)^{i}\right]+\left(1+(-1)^{n}\right) \frac{\lambda^{2 n+2}}{2^{2 n+3}} x . \tag{4.10}
\end{equation*}
$$

The above sequence is convergent if $\left|\frac{\lambda}{2}\right|<1$, that is, $-2<\lambda<2$.
On the other hand, we have

$$
\begin{equation*}
\left[\int_{a}^{b} \int_{a}^{b} k^{2}(x, t) d x d t\right]^{\frac{1}{2}}=\left[\int_{0}^{1} \int_{0}^{1}(1-3 x t)^{2} d x d t\right]^{\frac{1}{2}}=\frac{1}{\sqrt{2}} . \tag{4.11}
\end{equation*}
$$

Then if $|\lambda| \leq \sqrt{2}$, for mapping

$$
s_{n+1}(x)=T\left(s_{n}(x)\right)=x+\lambda \int_{0}^{1}(1-3 x t) s_{n}(t) d t
$$

we have

$$
\begin{align*}
\left\|T\left(s_{m}(x)\right)-T\left(s_{n}(x)\right)\right\| & =\left\|s_{m+1}(x)-s_{n+1}(x)\right\| \\
& =\left\|\lambda \int_{0}^{1}(1-3 x t)\left(s_{m}(x)-s_{n}(x)\right) d t\right\|  \tag{4.12}\\
& \leq|\lambda|\left[\int_{0}^{1} \int_{0}^{1}(1-3 x t)^{2} d x d t\right]^{1 / 2}\left\|s_{m}(x)-s_{n}(x)\right\| \\
& \leq \frac{|\lambda|}{\sqrt{2}}\left\|s_{m}(x)-s_{n}(x)\right\|
\end{align*}
$$

which implies that $T$ has a fixed point. Also, putting $L=0$ and $\alpha=\frac{|\lambda|}{\sqrt{2}}$ shows that (1.1) holds for the nonlinear mapping $T$. All of the conditions of Theorem 1.1 hold for the nonlinear mapping $T$ and hence it is $T$-stable.

Example 4.3. Consider the integral equation

$$
\begin{equation*}
u(x)=\sin a x+\lambda \frac{a}{2} \int_{0}^{\frac{\pi}{2 a}} \cos (a x) u(t) d t \tag{4.13}
\end{equation*}
$$

with its iteration formula

$$
\begin{equation*}
s_{n+1}(x)=\operatorname{sinax}+\lambda \frac{a}{2} \int_{0}^{\frac{\pi}{2 a}} \cos (a x) s_{n}(t) d t \tag{4.14}
\end{equation*}
$$

and

$$
u_{0}(x)=\sin a x
$$

In view of Eq. (3.9), we obtain

$$
\begin{equation*}
u(x)=\sin a x+p \lambda \frac{a}{2} \int_{0}^{\frac{\pi}{2 a}} \cos (a x) u_{n}(t) d t \tag{4.15}
\end{equation*}
$$

Substituting Eq.(2.4) into Eq. (4.15), we have

$$
\begin{aligned}
& p^{0}: u_{0}(x)=\sin a x \\
& p^{1}: u_{1}(x)=\lambda \frac{a}{2} \int_{0}^{\frac{\pi}{2 a}} \cos (a x) \sin (a t) d t=\frac{\lambda}{2} \cos (a x) \\
& p^{2}: u_{2}(x)=\lambda \frac{a}{2} \int_{0}^{\frac{\pi}{2 a}} \cos (a x) \frac{\lambda}{2} \cos (a t) d t=\frac{\lambda^{2}}{4} \cos (a x), \\
& p^{3}: u_{3}(x)=\lambda \frac{a}{2} \int_{0}^{\frac{\pi}{2 a}} \cos (a x) \frac{\lambda^{2}}{4} \cos (a t) d t=\frac{\lambda^{3}}{8} \cos (a x), \\
& \vdots
\end{aligned}
$$

Continuing in this way, we obtain

$$
\begin{align*}
s_{n}(x) & =\operatorname{sinax}+\frac{\lambda}{2} \cos (a x)+\frac{\lambda^{2}}{4} \cos (a x)+\frac{\lambda^{3}}{8} \cos (a x)+\cdots  \tag{4.16}\\
& =\operatorname{sinax}+\cos (a x) \sum_{i=1}^{\infty}\left(\frac{\lambda}{2}\right)^{i} .
\end{align*}
$$

The above sequence is convergent if $\left|\frac{\lambda}{2}\right|<1$, that is, $-2<\lambda<2$.
On the other hand, we have

$$
\begin{equation*}
\left[\int_{a}^{b} \int_{a}^{b} k^{2}(x, t) d x d t\right]^{\frac{1}{2}}=\left[\int_{0}^{\frac{\pi}{2 a}} \int_{0}^{\frac{\pi}{2 a}}\left(\frac{a}{2} \cos (a x)\right)^{2} d x d t\right]^{\frac{1}{2}}=\sqrt{\frac{\pi^{2}}{32}} \tag{4.17}
\end{equation*}
$$

Then if $|\lambda|<\frac{1}{\sqrt{\frac{\pi^{2}}{32}}} \cong 1.800$, for mapping

$$
s_{n+1}(x)=T\left(s_{n}(x)\right)=x+\lambda \frac{a}{2} \int_{0}^{\frac{\pi}{2 a}} \cos (a x) s_{n}(t) d t
$$

we have

$$
\begin{align*}
\left\|T\left(s_{m}(x)\right)-T\left(s_{n}(x)\right)\right\| & =\left\|s_{m+1}(x)-s_{n+1}(x)\right\| \\
& =\left\|\lambda \int_{0}^{\frac{\pi}{2 a}} \frac{a}{2} \cos (a x)\left(s_{m}(x)-s_{n}(x)\right) d t\right\|  \tag{4.18}\\
& \leq|\lambda|\left[\int_{0}^{\frac{\pi}{2 a}} \int_{0}^{\frac{\pi}{2 a}}\left(\frac{a}{2} \cos (a x)\right)^{2} d x d t\right]^{1 / 2}\left\|s_{m}(x)-s_{n}(x)\right\| \\
& \leq|\lambda| \sqrt{\frac{\pi^{2}}{32}}\left\|s_{m}(x)-s_{n}(x)\right\|,
\end{align*}
$$

which implies that $T$ has a fixed point. Also, putting $L=0$ and $\alpha=|\lambda| \sqrt{\frac{\pi^{2}}{32}}$ shows that (1.1) holds for the nonlinear mapping $T$. All of the conditions of Theorem 1.1 hold for the nonlinear mapping $T$ and hence it is $T$-stable.

## 5. Conclusion

In this work, we considered T-stability definition according to Qing and Rhoades [10] and we showed that the HPM was T-stable for solving integral equations. The sufficient condition for convergence of the method was presented and the examination of this condition for the integral equations and integro-differential equation was illustrated by presenting examples.

Acknowledgments. We would like to thank the referees for a number of helpful comments and suggestions.

## References

1. S. Abbasbandy, Numerical solutions of the integral equations: Homotopy perturbation method and Adomian's decomposition method, Applied Mathematics and Computation, 173, (2006), 493-500.
2. J. Biazar, H. Ghazvini, Numerical solution for special non-linear Fredholm integral equation by HPM, Applied Mathematics and Computation, 195, (2008), 681-687.
3. J. Biazar, H. Ghazvini, He's homotopy perturbation method for solving system of Volterra integral equations of the second kind, Chaos, Solitons and Fractals, 39(2), (2009), 770-777.
4. C. E. Froberg, Introduction to Numerical Analysis, Addison-Wesley Pub Company, 1968.
5. H. Jafari, M. Saeidy, M. Zabihi, Application of homotopy perturbation method to multidimensional partial differential equations, International Journal of Computer Mathematics, 87(11), (2010), 2444-2449.
6. H. Jafari and Sh. Momani, Solving fractional diffusion and wave equations by modified homotopy perturbation method, Physics Letters A, 370, (2007), 388-396.
7. B. Jazbi, M. Moini, Application of Hes Homotopy perturbation method for Schrodinger equation, Iranian Journal of Mathematical Sciences and Informatics, 3(2), (2008), 13-19.
8. J. H. He, Homotopy perturbation technique, Computer Methods in Applied Mechanics and Engineering, 178, (1999), 257-262.
9. H. Kheiri, A. Jabbari, Homotopy analysis and Homotopy Padacutee methods for twodimensional coupled Burgerséquations, Iranian Journal of Mathematical Sciences and Informatics, 6(1), (2011), 23-31.
10. Y. Qing and B. E. Rhoades, T-stability of Picard iteration in metric spaces, Fixed Point Theory and Applications, 2008, (2008), Article ID 418971, 4 pages.
11. R. Saadati, M. Dehghana, S.M. Vaezpoura, M. Saravi, The convergence of He's variational iteration method for solving integral equations, Computers and Mathematics with Applications, 58(11-12), (2009), 2167-2171.
12. R. A. Silverman, Calculus with analytical geometry, Prentice-Hall publication, New Jersey, 1985.
13. A. Soliman, A numerical simulation and explicit solutions of KdV-Burger's and Lax's seventh-order KdV equation, Chaos, Solitons and Fractals, 29, (2006), 294-302.
14. A. M. Wazwaz, Two methods for solving integral equation, Appl. Math. Comput., 77, (1996), 79-89.
15. A. Yildirim, Solution of BVPs for fourth-order integro-differential equations by using homotopy perturbation method, Computers $\& \mathcal{M}$ Mathematics with Applications, 56(12), (2008), 3175-3180.

[^0]:    * Corresponding Author

    Received 20 July 2011; Accepted 02 July 2012
    © 2013 Academic Center for Education, Culture and Research TMU

